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Thank-gou Sir for this Wonderful Class Session of today's._ 5 =
And

by Answer for today's Homework is-
E-K-T-J-H-M-D-R-F-5-C..
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There are eleven boxes placed one above the
other. Five boxes are placed between F and T.
Not more than five boxes are kept above T.
Two boxes are kept between T and M. Three
boxes are kept between M and S and M is kept
at one of the positions above S. There are only
three boxes kept above the box J. One box is
kept between R and S. Two boxes are kept
between R and H. Box D is kept at one of the
positions below box K and at one of the
positions above box C which is not above R.
Box E is kept immediately above K. Box H is

above R but not on top .

TE T2od Teh o HUT 3177 [T gAT 2| F AR
T W Uil fTsd W@ & Th FTW U= A
freh T T @ EI TIRM B fmra
T @I MRS F e adia e @
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Teh TATH U @ ¢ AR fgear C & R foher
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There are eleven boxes placed one above the
other. Five boxes are placed between F and
T. Not more than five boxes are kept above
T. Two boxes are kept between T and M.
Three boxes are kept between M and S and
M is kept at one of the positions above S.
There are only three boxes kept above the
box J. One box is kept between R and S.
Two boxes are kept between R and H. Box
D is kept at one of the positions below box K
and at one of the positions above box C
which is not above R. Box E is kept
immediately above K. Box H is above R but

not on top .



Which of the following explanation is true?

C2H=A>T>S

1)S<C
2) T=C
3)W>0
4 W<O0
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Q. Statement: G=C<«<P=T,UAN=J2G

Conclusion :
. U*P
II. GEN
M.G<£T
IV.UEG

(a) All Follows (b) only 11, 11l & IV Follows
(c) only | & Il Follows (d) only 1l & 11l Follows
(e) None of these



Q.Statement: R*SE2Q=P, T=U<£E<«LP

Conclusion :
. TES
Il. E£Q
.S & U
IV.T£R

(a) only 1 & Il Follows (b) only 11l & IV Follows
(c) only | & IV Follows (d) only Ill Follows
(e) None of these



Q. Statement: C£L£D=EEZP,LLT£N=G

Conclusion :
. TELD
II. L£E
M.C<£T
IV.D *> E

(a) only 1 & Il Follows (b) only Il & llIl Follows

(c) only Il Follows (d) only IV Follows
(e) None of these



Q. Statement: M AFNEZLLQ,RELT<£Q

Conclusion :
. R<«L
II. T#N
H.LELEM
IV.R<£ M

(a) All Follows (b) only Il & IV Follows
(c) only | & IV Follows (d) only Ill Follows
(e) None of these



Q. Statement: C£H=P<«E, JEN®*D=C

Conclusion :
. DLP

I. N<H
I.D£E
IV.C £

(a) None Follows (b) only I, Il & IV Follows
(c) only 1 & Il Follows (d) only Il Follows
(e) None of these



Q. Statement: A »B<CE£D<£L<M-=F

Conclusion :
. A*F
II. A<C
II.D <F

(a) All Follows
(c) only 1 Follows
(e) None of these

(b) only Ill Follows
(d) only Il Follows
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Statements:S=Y-'/-'M>B>O=L

Conclusions: 1. Y> B

ILYSB

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.



Statements:S=Y-'/-'M>B>O=L

Conclusions: 1. S> M
II.Y<M

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.



Statements : S=MFAFR=T

Conclusions: I. M =R
I.M¥*R

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : S=MFAFR=T

Conclusions: 1. S> A
II. S<A

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.



Q. In the following questions !, @, #, $ and % are used with the following meaning as

illustrated below.

“A!'B means
“A@B means
“A#B means
“ASB means
“A%B means

A is not less than B.”

A is not greater than B.”

A is neither greater than nor smaller to B.”

A is neither smaller than nor equal to B.”

A is neither greater than nor equal than B.”

el feq T =T H 5 e |, @, #, $ 3R Y SN fohT 71T & Seeh 31ef fmfcrfaa &
P1Q HTAL R ‘P,Q’ U BT 7! =l

‘P@ Q31 g ‘P,Q’ U ST = =l

P#Q HIATR ‘P,Q HIBITJAXTE ISR

‘P$Q HTAL R ‘P,Q” VT BIT I T & I =

‘P% Q’ HT AL R ‘P,Q” U T ST 3TN T & I 2



Q.Which of the following expression leads to A%C being definitely
true and no relation between G and E ?

Afeiga § 9 i 91 25tk A%C & Ffgd e T a g 83 hl IR A
SITAT @ 3T’ G 3R E o o= hig Gae T81 22

(DA% F@C%G%H#B#E
2Q)A#F#C@G!HSB!'E
BAF@CwG%H@B#E
DHA#F@C%G!H#B%E
(5) None of these.



Q. Which of the following expression leads to N$Q being definitely true
and no relation between M and P ?

TR | © ahiq |7 sdsteh N$Q o Hi9d ®9 8 G 8 hl 3T o STl
2 3T M 3R P o i shis Gaiey Tei 22

(HM%NSO#P!R#Q
2)MINSO#P!R#Q
G)M@N@O!P#R#Q
(HM!INA#O!P!R#Q
(5) None of these.



